

ABC Bid Data

DISTRICT 1 N 16161K NON-FEDERAL

PROJECT: DISTRICT 1 N

STATE PROJECT NUMBER: 16161K

FED. PROJECT NUMBER: NON-FEDERAL **DATE BIDS OPEN:** February 22, 2022,

SCOPE OF WORK: Resurfacing of roadways in District 1

COMPLETION DATE: September 23, 2022 LOCATION: Grafton, Coos, District 1 Awarded To: PIKE INDUSTRIES, INC.

3 EASTGATE PARK ROAD BELMONT, NH 03220

Amount: \$4,343,543.25

Certified by: PETER.E.STAMNAS

Director of Project Development

Award Date:

Summary of Bidders

Contractor	Bid Amount	Rank
PIKE INDUSTRIES, INC.	\$4,343,543.25	Α
3 EASTGATE PARK ROAD, BELMONT NH 03220		
J HUTCHINS INC	\$4,889,545.23	В
88 ROGERS LANE, RICHMOND VT 05477		

ABC Bid Data



DISTRICT 1 N 16161K NON-FEDERAL

				ı	PS&E	3 EASTGAT	ISTRIES, INC. E PARK ROAD IT, NH 03220	88 ROG	CHINS INC ERS LANE ID, VT 05477
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

T.				1	1	1	1		
206.1	COMMON STRUCTURE EXCAVATION	CY	21.70	\$500.00	\$10,850.00	\$1,100.00	\$23,870.00	\$618.00	\$13,410.60
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	5,748.70	\$25.00	\$143,717.50	\$29.00	\$166,712.30	\$25.50	\$146,591.85
403.11053	HBP-3/8" SURFACE MIX, MACHINE METHOD	TON	4,398.40	\$84.50	\$371,664.80	\$80.00	\$351,872.00	\$82.28	\$361,900.35
403.11943	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	3,022.50	\$81.00	\$244,822.50	\$85.00	\$256,912.50	\$85.69	\$258,998.03
403.11953	HBP-3/8" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	249.70	\$83.50	\$20,849.95	\$100.00	\$24,970.00	\$100.41	\$25,072.38
403.12	HBP-HAND METHOD	TON	97.10	\$184.00	\$17,866.40	\$225.00	\$21,847.50	\$275.00	\$26,702.50
403.16	PAVEMENT JOINT ADHESIVE	LF	52,197.10	\$0.25	\$13,049.28	\$0.25	\$13,049.28	\$0.24	\$12,527.30
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	7,176.90	\$1.85	\$13,277.27	\$2.50	\$17,942.25	\$2.16	\$15,502.10
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	22,655.00	\$3.75	\$84,956.25	\$3.75	\$84,956.25	\$2.75	\$62,301.25
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	1,621.90	\$94.67	\$153,545.27	\$82.00	\$132,995.80	\$94.31	\$152,961.39
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	23,576.30	\$78.15	\$1,842,487.85	\$82.00	\$1,933,256.60	\$89.61	\$2,112,672.24
417.	COLD PLANING BITUMINOUS SURFACES	SY	42,528.00	\$3.00	\$127,584.00	\$2.00	\$85,056.00	\$4.50	\$191,376.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	9,681.80	\$1.85	\$17,911.33	\$1.50	\$14,522.70	\$0.20	\$1,936.36
418.32	EMULSIFIED ASPHALT FOR COLD PAVEMENT	GAL	59,968.90	\$2.30	\$137,928.47	\$2.75	\$164,914.48	\$3.15	\$188,902.04
418.41	PLANT MIXED RECYCLED ASPHALT PAVEMENT	TON	8,345.20	\$27.50	\$229,493.00	\$33.00	\$275,391.60	\$33.08	\$276,059.22
604.0007	POLYETHYLENE LINER	EA	55.00	\$134.50	\$7,397.50	\$125.00	\$6,875.00	\$145.00	\$7,975.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	41.00	\$506.50	\$20,766.50	\$450.00	\$18,450.00	\$700.00	\$28,700.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	2.00	\$530.00	\$1,060.00	\$450.00	\$900.00	\$785.00	\$1,570.00
604.72	GRATES & FRAMES, TYPE B	EA	14.00	\$670.00	\$9,380.00	\$600.00	\$8,400.00	\$300.00	\$4,200.00
608.2401	4" CONCRETE SIDEWALK	SY	199.70	\$80.00	\$15,976.00	\$85.00	\$16,974.50	\$170.00	\$33,949.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	45.40	\$430.00	\$19,522.00	\$475.00	\$21,565.00	\$350.00	\$15,890.00
609.01	STRAIGHT GRANITE CURB	LF	14.00	\$52.00	\$728.00	\$125.00	\$1,750.00	\$172.00	\$2,408.00
609.5	RESET GRANITE CURB	LF	77.70	\$25.00	\$1,942.50	\$85.00	\$6,604.50	\$28.00	\$2,175.60

ABC Bid Data



DISTRICT 1 N 16161K NON-FEDERAL

					PS&E		USTRIES, INC. TE PARK ROAD NT, NH 03220	88 RO	CCHINS INC GERS LANE IND, VT 05477
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
618.7	FLAGGERS	HR	3,083.00	\$39.00	\$120,237.00	\$39.00	\$120,237.00	\$46.00	\$141,818.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$260,000.00	\$260,000.00	\$75,000.00	\$75,000.00	\$147,000.00	\$147,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$4,122.65	\$16,490.60	\$1,500.00	\$6,000.00	\$3,000.00	\$12,000.00
628.1	SAWED CONCRETE PAVEMENT	LF	278.30	\$16.00	\$4,452.80	\$20.00	\$5,566.00	\$5.03	\$1,399.85
628.2	SAWED BITUMINOUS PAVEMENT	LF	505.70	\$3.50	\$1,769.95	\$15.00	\$7,585.50	\$3.50	\$1,769.95
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	1,351,273.00	\$0.20	\$270,254.60	\$0.13	\$175,665.49	\$0.14	\$189,178.22
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	55.00	\$2.15	\$118.25	\$1.00	\$55.00	\$4.00	\$220.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	216.00	\$5.75	\$1,242.00	\$4.00	\$864.00	\$5.50	\$1,188.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	55.00	\$3.10	\$170.50	\$2.05	\$112.75	\$2.00	\$110.00
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8"	LF	197.00	\$5.50	\$1,083.50	\$4.25	\$837.25	\$4.00	\$788.00
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	1,639.00	\$5.70	\$9,342.30	\$5.00	\$8,195.00	\$5.00	\$8,195.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	118.00	\$8.65	\$1,020.70	\$6.00	\$708.00	\$6.00	\$708.00
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	98.00	\$12.50	\$1,225.00	\$10.00	\$980.00	\$10.00	\$980.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	268.00	\$10.50	\$2,814.00	\$11.00	\$2,948.00	\$10.00	\$2,680.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	210.00	\$2.10	\$441.00	\$2.00	\$420.00	\$2.00	\$420.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	98.00	\$1.80	\$176.40	\$3.00	\$294.00	\$3.00	\$294.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	233.00	\$4.75	\$1,106.75	\$4.00	\$932.00	\$4.00	\$932.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	34.10	\$4.00	\$136.40	\$50.00	\$1,705.00	\$130.00	\$4,433.00
692.	MOBILIZATION	U	1.00	\$290,000.00	\$290,000.00	\$104,000.00	\$104,000.00	\$250,000.00	\$250,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00

New Hampshive Department of Transportation

ABC Bid Data

DISTRICT 1 N 16161K NON-FEDERAL

\$4,889,545.23

				F	PS&E	3 EASTGA	USTRIES, INC. TE PARK ROAD NT, NH 03220	88 RO	CCHINS INC GERS LANE OND, VT 05477
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	1,650.00	\$1.00	\$1,650.00	\$1.00	\$1,650.00	\$1.00	\$1,650.00
Totals:			\$4,670,508.12		\$4,343,543.25		\$4,889,545.23		
			Alt. Totals:						

Totals:

\$4,670,508.12

\$4,343,543.25



DISTRICT 1 N 16161K NON-FEDERAL

				A-Bid	der	PS	ßE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
206.1	COMMON STRUCTURE EXCAVATION	CY	21.70	\$1,100.00	\$23,870.00	\$500.00	\$10,850.00	\$13,020.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	5,748.70	\$29.00	\$166,712.30	\$25.00	\$143,717.50	\$22,994.80
403.11053	HBP-3/8" SURFACE MIX, MACHINE METHOD	TON	4,398.40	\$80.00	\$351,872.00	\$84.50	\$371,664.80	(\$19,792.80)
403.11943	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	3,022.50	\$85.00	\$256,912.50	\$81.00	\$244,822.50	\$12,090.00
403.11953	HBP-3/8" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	249.70	\$100.00	\$24,970.00	\$83.50	\$20,849.95	\$4,120.05
403.12	HBP-HAND METHOD	TON	97.10	\$225.00	\$21,847.50	\$184.00	\$17,866.40	\$3,981.10
403.16	PAVEMENT JOINT ADHESIVE	LF	52,197.10	\$0.25	\$13,049.28	\$0.25	\$13,049.28	\$0.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	7,176.90	\$2.50	\$17,942.25	\$1.85	\$13,277.27	\$4,664.98
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	22,655.00	\$3.75	\$84,956.25	\$3.75	\$84,956.25	\$0.00
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	1,621.90	\$82.00	\$132,995.80	\$94.67	\$153,545.27	(\$20,549.47)
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	23,576.30	\$82.00	\$1,933,256.60	\$78.15	\$1,842,487.85	\$90,768.75
417.	COLD PLANING BITUMINOUS SURFACES	SY	42,528.00	\$2.00	\$85,056.00	\$3.00	\$127,584.00	(\$42,528.00)
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	9,681.80	\$1.50	\$14,522.70	\$1.85	\$17,911.33	(\$3,388.63)
418.32	EMULSIFIED ASPHALT FOR COLD PAVEMENT	GAL	59,968.90	\$2.75	\$164,914.48	\$2.30	\$137,928.47	\$26,986.01



DISTRICT 1 N 16161K NON-FEDERAL

		1		A-Bide	der	PS8		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
418.41	PLANT MIXED RECYCLED ASPHALT PAVEMENT	TON	8,345.20	\$33.00	\$275,391.60	\$27.50	\$229,493.00	\$45,898.60
604.0007	POLYETHYLENE LINER	EA	55.00	\$125.00	\$6,875.00	\$134.50	\$7,397.50	(\$522.50)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	41.00	\$450.00	\$18,450.00	\$506.50	\$20,766.50	(\$2,316.50)
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	2.00	\$450.00	\$900.00	\$530.00	\$1,060.00	(\$160.00)
604.72	GRATES & FRAMES, TYPE B	EA	14.00	\$600.00	\$8,400.00	\$670.00	\$9,380.00	(\$980.00)
608.2401	4" CONCRETE SIDEWALK	SY	199.70	\$85.00	\$16,974.50	\$80.00	\$15,976.00	\$998.50
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	45.40	\$475.00	\$21,565.00	\$430.00	\$19,522.00	\$2,043.00
609.01	STRAIGHT GRANITE CURB	LF	14.00	\$125.00	\$1,750.00	\$52.00	\$728.00	\$1,022.00
609.5	RESET GRANITE CURB	LF	77.70	\$85.00	\$6,604.50	\$25.00	\$1,942.50	\$4,662.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
618.7	FLAGGERS	HR	3,083.00	\$39.00	\$120,237.00	\$39.00	\$120,237.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$75,000.00	\$75,000.00	\$260,000.00	\$260,000.00	(\$185,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$1,500.00	\$6,000.00	\$4,122.65	\$16,490.60	(\$10,490.60)
628.1	SAWED CONCRETE PAVEMENT	LF	278.30	\$20.00	\$5,566.00	\$16.00	\$4,452.80	\$1,113.20
628.2	SAWED BITUMINOUS PAVEMENT	LF	505.70	\$15.00	\$7,585.50	\$3.50	\$1,769.95	\$5,815.55
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	1,351,273.00	\$0.13	\$175,665.49	\$0.20	\$270,254.60	(\$94,589.11)

Friday, February 25, 2022 Page 6 of 8



DISTRICT 1 N 16161K NON-FEDERAL

				A-Bide	der	PS8	ķΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE		55.00	\$1.00	\$55.00	\$2.15	\$118.25	(\$63.25)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	216.00	\$4.00	\$864.00	\$5.75	\$1,242.00	(\$378.00)
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	55.00	\$2.05	\$112.75	\$3.10	\$170.50	(\$57.75)
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	197.00	\$4.25	\$837.25	\$5.50	\$1,083.50	(\$246.25)
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	1,639.00	\$5.00	\$8,195.00	\$5.70	\$9,342.30	(\$1,147.30)
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	118.00	\$6.00	\$708.00	\$8.65	\$1,020.70	(\$312.70)
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	98.00	\$10.00	\$980.00	\$12.50	\$1,225.00	(\$245.00)
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	268.00	\$11.00	\$2,948.00	\$10.50	\$2,814.00	\$134.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	210.00	\$2.00	\$420.00	\$2.10	\$441.00	(\$21.00)
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	98.00	\$3.00	\$294.00	\$1.80	\$176.40	\$117.60
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	233.00	\$4.00	\$932.00	\$4.75	\$1,106.75	(\$174.75)
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	34.10	\$50.00	\$1,705.00	\$4.00	\$136.40	\$1,568.60
692.	MOBILIZATION	U	1.00	\$104,000.00	\$104,000.00	\$290,000.00	\$290,000.00	(\$186,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00



DISTRICT 1 N 16161K NON-FEDERAL

				A-Bide	der	PS8	kΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	1,650.00	\$1.00	\$1,650.00	\$1.00	\$1,650.00	\$0.00

Total: \$4,343,543.25 \$4,670,508.12 (\$326,964.87)

Friday, February 25, 2022 Page 8 of 8